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11. A large lot of marbles have diameters which are approximately normally distributed
with a mean of 1 cm. One third have diameters greater than 1.1 cm. Find:

a) the standard deviation of the distribution;

Yov ™ ighs- need M0 \

Area ®(z2)

Appendix

= Normal Table
Table shows values of ®(z) for z from 0 to 3.59 by steps of .01. Example: to find
C\AQ\A& 0\~ SC‘('E ®(1.23), look in row 1.2 and column .03 to find ®(1.2 4 .03) = &(1.23) = .8907.
Use ®(2) =1 — ®(—2z) for negative z.
Z < X— E()‘\ [ [ o o1 02 03 04 05 06 07 08 .09 |
— 0.0 {| .5000 .5040 .5080 .5120 .5160 .5199 .5239 .5279 .5319 .5359

0.1 || .5398 .5438 .5478 .5517 .5557 .5596 .5636 .5675 .5714 .5753
0.2 || .5793 .5832 .5871 .5910 .5948 .5987 .6026 .6064 .6103 .6141

03 || 6179 6217 6255 6293 6331 6368 6406 6443 6480 .6517
Q( .\"-\ = léq ow 04 || 6554 6591 6628 6664 6700 6736 6772 6808 6844 6879

0.5 || .6915 .6950 .6985 .7019 .7054 .7088 .7123 .7157 .7190 .7224
0.6 || .7257 7291 .7324 7357 .7389 .7422 7454 7486 .7517 .7549
0.7 || .7580 .7611 .7642 7673 .7703 7734 7764 .7794 .7823 .7852
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Suppose a manufacturing process designed to produce rods of length 1 inch exactly, in
fact produces rods with length distributed according to the density graphed below.

0.9 10 11

You should change the scale of X=the length of rods to:
O a:x-1
O b:.1(%1)

O c:10%-1

Xd: none of the above

You need to move the center of the rod from x = 1 to x = 0 so first
we need to subtract 1. Now we have the end point at x= .1 and to
normalize this so the end point is at x = 1 we need to divide by .1

teh-is equivalent to multiplying by 10. So our final equation is
d: none of the above -1)
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Stat 134

1. GSI Brian and Yiming are each helping a
student. Brian and Yiming see students at
a rate of Ag and Ay students per hour re-
spectively.

Let

B = wait time for Brian ~ FExp(Ap)

Y = wait time for Yiming ~ Exp(\y)
What distribution is 7' = min(B, Y')?
Hint: compute P(T > t)

a Exp(max(Ag, Ay))
b Exp(Ap — Ay)
c)Exp(Ap + Ay)
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A family is getting ready for their trip to Yosemite. Each person is in their
room, packing their bags. For each person, the time it takes them to pack their
bag is exponentially distributed and independent of the time it takes any other
person. On average, it takes each parent 1 hour and each child 2 hours to get
ready. In a family with 2 parents and 4 children, what is the probability that
it takes the family more than 2 hours to get ready?
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